180

160

140

120

100

80

60

40

20

‘ = |

o

5 10
g212 (Gmax-Gmin)/Gmin (front)

I
al

160

140

120

100

80

60

40

20

1

= | ‘

o

5 10
g212 (Gmax-Gmin)/Gmin (back)

I
o1



4.5

3.5

2.5

15

0.5

ooosoQgae
soo0d0cooon
ogod0ooo
O0oOeoone
oO000o0e
o000ooao o
onogfjdoo o =«
oo OOcoo

o oo
nld:ElElEln o

oO00oOoo o
oOJoOoo o
Oo=o

o

5 10
g212 (Gmax-Gmin)/Gmin.vs.RMS

[ERY
(&)

4.5

3.5

2.5

15

0.5

-]
o
oo
a
o 0o
o0
nnuE
oo
o[}
oo

oo o o o
oo =]
o oo
=] a
0O ooOoo o
odooos
OO0cooa
OOoono oo
odoOo oo o
OdOooOoo

o0

o
ool
o

0
Ooo o

Y

oo e

=000
odno
oo

OOcoan
oo o
a oo

o

5 10
g212 (Gmax-Gmin)/Gmin.vs.RMS

[ERN
(9]



25

225

20

17.5

15

12.5

10

7.5

g212 Gain.vs. straw

17.5

15

4125

10

7.5

g212 Gain.vs. straw



